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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your

answer sheet.

31-1 should say that I have never seen a girl ... than Angelina in my whole life.

1) more shy

3) most shy

32-The questions of the final test are not as difficult to answer ...

1) that

3)as

2) shyer

4) the most shy

some of you may think.
2) than

4) than that

33-For the first few months of their lives, the two babies looked so much ... that I couldn’t tell which

was which.

1) alike
3) strange

34-1 had some difficulties when I was living abroad but
1) collected
3) defended

35-The students are going to learn several interesting ..
1) facts

3) orbits

2) important

4) wonderful

they were nothing ... to yours.

2) compared

4) described

. about endangered animals in this lesson.
2) exercises

4) heavens

36- My elder sister told me that she couldn’t quite believe that all this was ... happening to her.

1) beautifully

3) carefully

2) differently

4) actually
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PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct

choice on your answer sheet.

We divide up the year into four seasons: spring, summer, autumn, and winter. Each season lasts 3
months. Summer is the warmest season, winter is the coldest, and spring and autumn are in
between. The seasons have a lot of effects on what happens on the Earth. In the spring, animals
are born and plants come back to life. Summer is hot and is when kids are usually out of school
and we take vacations to the beach. In the autumn, the leaves change color and fall off the trees
and school starts again. Winter is cold and it snows in many places. Some animals, like bears,
hibernate in the winter while other animals, like birds, migrate to warmer climates.

What causes seasons is the Earth’s changing relationship to the Sun. The Earth travels around
the Sun once a year or every 365 days. As it orbits the Sun, the amount of sunlight each place on

the planet gets changes every day. This change causes the seasons.

37- What is the best title for the passage?
1) The Coldest and Warmest Seasons
2) The Seasons and their Causes
3) How the Sun and the Earth Move
4) When Plants Come Back to Life
38- According to the passage, seasons change because ... .
1) the leaves change color and fall off the trees
2) we divide up the year into four seasons
3) the amount of sunlight each place on the Earth gets changes every day
4) the Sun travels around the Earth once a year or every 365 days
39- Which of the following is TRUE about seasons?
1) Some seasons last much longer than others.
2) Schools are closed in the spring.
3) Leaves change color in the winter.
4) Plants come alive again in the spring.
40- What does the underlined word “it” in paragraph 2 refer to?
1) Earth 2) Sun

3) sunlight 4) season
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